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Section I : Language (20 Questions, 40 Marks)

Passage :

Rosa Parks helped change the laws in
America. Because ofher actions, everyone
in America has equal rights. Rosa Parks was
a black woman born in 1913 in Alabama. At
that time there were laws segregating black
and white people.

Segregating means keeping them apart. Rosa
Parks went to a school with all African
American students. Whites and blacks were
forced to go to different schools. After she
got her high school diploma, she helped her
family earn money by working as a seamstress
in a department store. Rosa Parks became
famous when she was sitting on a bus and
refused to give up her seat to a white man.
There was a law in Alabama that said black
people had to leave their seat on a bus if a
white person wanted to sit down. She
believed she had dignity and whites were not
better than her because she was black. Rosa
Parks was arrested for not giving up her seat.
She still felt she did the right thing. After that,
all African Americans boycotted the bus for
over a year. They also held many peaceful
protests. Martin Luther King, Jr. also helped
in the protests. A year later, the Supreme
Court ruled that segregation was illegal. Now
whites and blacks could go to the same
schools. They did not have to give up their
seats on buses. They had the same rights as
everyone else in America. Rosa Parks is
considered a hero today because she
believed everyone should be treated equally.

She was honored in 1996 by President Bill
Clinton, who gave her the Presidential Medal
of Freedom, the highest honor a citizen can
receive.

uestions

Q.1

Q.3

What was the effect of segregation on
Rosa Parks? DO20®
(1) She had to attend a school for blacks.
(2) She did not get a good job

(3) She was not given the medal for her
achievement

(4) The supreme court ruled that segregation
was illegal

Which incident provoked Rosa Parks to
stand up against the whites? Q@
(1) She was forced to go to a school for
blacks

(2) She had to take up a job as a seamstress
(3) She was forced to give up her seat for a
white man

(4) All correct

Which of the following statements is not
true? DOB®@
(1) Rosa Parks was arrested for not giving
up her seat

(2) the Supreme Court ruled that segregation
was legal

(3) Equality was not restored in the country
(4) Rosa Parks was given Presidential Medal
of Freedom

From the passage find the synonym of
renowned. 0016
(1) Famous (2)rights

(3) honored (4) boycotted

Who supported Rosa in her protest?
(1) President Bill Clinton O0O©]6)




Q.7

Q.10

Q.11

Q.12

(2) Martin Luther King Jr.

(3)All Americans

(4)All Africans

The word opposite in meaning to
‘civilised’ is ----------- 0016
(1) rough (2) modern
(3)savage (4) wild

The science which deals with plants and
plant life is known as NOIO©O)
(1) zoology (2) botony

(3) biology (4) biophysics

The adjective from of ‘to consider’
is__ 00Ol
(1) consideration (2) considerate

(3) consent (4) considerably

Some phrases are given in column ‘A’
and their meanimg in column ‘B’.Match

them. D@
3 A’ ‘B b
1) to put off a) keep aside
2) to put away b) wear
3) to put on c) switch off
4) to put forth d) propose /
suggest

(1) 1-b,2-d,3-a,4-c ~ (2) 1-d,2-c,3-b,4-a
(3)1-c,2-a,3-b,4-d  (4) 1-c,2-d,3-a,4-b
How many four letters words can you
form from the word ‘boulder’ using each

alphabet only once ? OO0®
(H3 (2)5
(3)4 (4)2

‘We have been thinking of going for a trip
to Lakshadweep island’ What is the

tense of the Sentence? 0016
(1) Present tence (2) Present Perfect
(3) Present Comtinuos

(4) Present Perfect Continuos.

Change the voice of the sentence ‘Kites
are made with coloured paper. Q3@
(1) Coloured paper makes kites.

(2) They make kites with coloured paper.
(3) Kites have been made with coloured pa-
per.

(4) With coloured paper,kites are made.

Q.13 ‘Thereis a garden

the street’
use an approprite preposition to complete

the sentence. DO20®
(I)on (2) above
(3) across (4) between

Q.14 Change to indirect speech. MDQB@

Rita said “I live in the building behind the
temple”

(1) Rita said that she lives in the building be-
hind the temple.

(2) Rita said she lives in the building behind
the temple.

(3) Rita said I live in the building behind the
temple.

(4) Rita said that she lived in the building be-
hind the temple transformation to

Q.15 The correct negative sentence of -

‘Jupiter is the largest planet of our solar

system’ -is- 0016

(1) Jupiter is not the largest planet of our so-
lar system.

(2) No one but Jupiter is the largest planet of
our solar system

(3) Jupiter is the largest planet of nothing but
our solar system

(4) No planet is as large as Jupiter in the so-
lar system

Q.16 Uma received the best actress award

which was DO20®

Use an appropriate idiom to complete the
sentence.

(1) as proud as a peacock.

(2) a feather in her cap.

(3) blowing her own trumpet.

(4) a once in a blue moon.

Q.17 What will you call a person who can use

both his hands with equal skill?

O20®
(1) both handed (2) skillful
(3) ambidextrous (4) dextrous.

Q. 18 Select the proverb similar in meaning to

- ‘A burnt child dreads fire. DHQQR@
(1) Better be safe than sorry.

(2) Once bitten twice shy.

(3) Look before you leap.

(4) There is no smoke without fire.




Q.3

Q.4

Q.19 Whatis the young one of a deer called ? | Q.20 ‘Discovery of India’ is a well known book
DOB®® written by - DOB®®
(1) lamb (2) calf (1) Jawaharlal Neharu
(3) fawn (4) cub (2) Sane Guruji
(3) Mahatma Gandhi
(4) Lokmanya Tilak.
1eT 1 - 31191 (20 99, 40 3[0T)
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Q.12

Q.13

Q.14

Q.15

Q.16

Q.1

3) T8 4) ygfa-g
TRER' HIUTA EeD T 2 DOO@
1) G QORI 2) GU TSR

3) gy 3Teseht 4) GU IR

T UgTe farieer shiun STea?

1) @ 2) T D@
3) U= 4) J&8

UGS SIS foRaTIaTeN hie ShIUTAT?
Hol fer= ST Sl DB
1) FHMHIS 2) YeRIcS

2) Hfersaehics 4) HeATHIS

‘TE’ B HUT SHIUTe Al Jat ?

1) ¥R ) DQB@
3) hIfcieh 4) ®IEH
Tra o fad - ' awa vt faga em
qoi . 0]0]O]0)
1) WAYR &l 2) U 59

3) et oy 4) TN A

Q.17 U™ TS Hgavieh v1e8 3o ?

Q.20

AT ESiE! DOB@
1) T 2) e
3) T 4) T2
Q. 18 Hd THEH TEHIY TR ATd hivTd ?
0IN]O]0)
1) fogeeud Fewol  2) goRM AR
3) TR 3R 4) ez Sheh
Q.19 HEHRA A Tem= B@eh HT? DOR)Q)
1) st 2) =™
3) aferehl 4) 7RG
15 3= 3MUUT T FEUH HISHT hidl?
0INO]0)
1) HerTg f& 2) Srotrerreh &
3) STt 4) T A

Section II : Maths (30 Questions, 60 Marks)

9119] 11 : 3IfS1d (30 U, 60 II01)

How many of the following rectangles are
equiared?
a)L=6cmB=2cm
b)L=3cm,B=9cm
¢)L=4cm, B=3cm
d)L=8cm,B=2cm
e)L=9cm,B=6cm
f)L=12cm,B=1cm
1)3 2)4
3)2 4)1
WSeUeh! fehet T Slthes THH 3112 ?
a)L=6cmB=2cm
b)L=3cm,B=9cm
¢)L=4cm, B=3cm
d)L=8cm,B=2cm
e)L=9cm,B=6cm
f)L=12cm,B=1cm
)3

3)2

06O]6),

D@
2)4
4 1

Q.2

Q.3

Q.3

AABC and A PQR are congruent
A & P,B & Q,C« R, then which of
the following is not correct? DR @
1)AB =~ PQ 2)AC = PR
3) BC ~ PR 4) CB = RQ

A ABC 27T , PQR Ueh&U 374, A <> P,
B & Q, Co R, 30T W @S tah

T frerm sRIsR ATE? DOB@
DAB = PQ 2)AC = PR
3) BC ~ PR 4) CB = RQ

Which of the following shows the correct
expanded from of number 5403.601

0000
WU ShIUTAT vt e deien ar
vata gifai? 5403.601 D2B@

1)5x10*+4 x10°+ 3x10'+6x 10! +
1x103
2)5x10°+4 x10°+ 3x10'+6x 10! +
1x103




Q4

Q.4

Q.5

Q.5

3)5x10°+4 x10°+ 3x10'+6x 10" +
1x103
4)5x10°+4 x10*+ 3x10°+6x 10" +
1 x10?

1 1

x4

Find the value of W 0016
6' x4 :
T et fohrd el DR @
11 2)20
3)24 4)0
-7 -1
What should be added to 9 to get ry ?
- 6
DAre ), ©00®
o N
) 9 ) 9
-7 -1
Knaﬁ fereht ferezercama m;ﬁé@s?
-6 -6
Dy 25 O00®
o4 o3
) 9 ) 9

Which of the following number should be
added to 125, so that it would be divisible

by 16 DOB®®

1)6 2)4

3)5 4)3

WS AH FHITE GEar 125 wed

frreacara Jurt WAt 16 7 gut 9w Srar?
DOR®

1)6 2)4

3)5 4)3

Amit’s age is 3 years more than twice
the age of sumit. If sum of their ages is
42. Find sumit’s age? DOOB®
1)29 2)39

3)13 4) 15

ariael a9 gitdea aarean guanen d=a
ST 3. SR cieal St Skiet 42 TR,
W g 39 @ DOB®

Q.8

Q.8

Q.9

Q.9

Q.10

Q.10

Q.11

Q.11

1)29
3) 13

2)39
415
Product of two consecutive number is 156.
Find the odd number from these two

numbers. DO20®
1) 13 2) 11
3)9 4)15
WA=l S GEAr qUITRR 156 372,
e fowmdem wvE? . D00
1)13 2) 11
3)9 4)15

Which alternative shous equivalent
104

Frachion to the given franchion o1 ?
85 5, 102
5 136 2 176
) 119 ) 112
TS ShIvTe S1quUTteRTen fehma e
. 104
qUifehTEeht 3. o 00016
N ) 102
) 119 85
136 4 176
119 112
‘676’ is square of which of the following
number? DOB®@
1)12x2 2)14x2
3)16x3 4)13x2
676 TRIUTC T S TEAT IR,
00OO[0)
1)12x2 2)14 x2
3)16 x3 4) 13 x2
Which alternative shows supplementary
angle of (90 +x)° DOB®
1)(90-x)° 2)(180-90)°
3)(180-x)° 4) (90 +x)°
WSS RO Tatd (90 + x )° g4
FHAEN I &wH ied? . D@
1) (90 - x )° 2) (180 -90 )°
3) (180 - x )° 4) (90 +x )°




Q.12

Sudha scored 72 marks out of 80, medha
scored 63 out of 70 and pradnya scored
54 out of 60 marks. Then which of the
following statement is true. DQQR@
1) All three of them have scored less than 80
% marks

2) Pradnya has scored more marks

3) Sudha has scored less marks than medha
4) All three of them have scored 90% marks

Q.12 Gt 80 Uehl 72 U1 furested 31, Hermen

70 YT 63 TUT ATRA. VA 60 Ukt 54
TUT 3. TR WS Yol whivTd fererm aea

M . DG
1) e faefiAetl 80 et et T 3Tea
2) TS Falteq S o ST,
3) GeIes1 HeMed ShHt T[0T ST,
4) 7 Tl 90 2aeh T 3T

Q.13  Which number is not a factor of number
770 DOB®®
)5 2)8
3)7 411

Q.13 WHUE FHIUEH H& 770 T HEAe
T I . DOB®®
)5 2)8
3)7 4)11

Q.14 12.6km=........... cm 0016
1) 1260000 2) 126000
3)132600 4) 1260

Q.14 12.6 Rt = ........ Sl DOB®
1) 1260000 2) 126000
3) 12600 4) 1260

Q.15

3 th 3 th
Difference between (—j and (EJ of

5
a number is 33. Find the number.
1)42 2) 160 OB @
3) 132 4) 80
. 3 3
Q. 15 TehT H&I=A (gja:nﬁn (Ej Y 33 =
Wik 3R, Wt T R DB @
1)42 2) 160
3)132 4) 80

Q.16

Which of the following is not a right angle
triangle? 0016

Q.16

Q.17

Q.17

Q.18

Q.18

Q.19

Q.19

Q.20

Q.20

1)9,40,41 2)9,16, 20
3)6,8,10 4) 8,15, 17
TSUehl iU hEehF TR D)@
1)9,40,41 2)9,16, 20
3)6,8,10 4) 8,15, 17
(x+5)is an even number, then which of
the following number is sixth odd number
after this? DO20®
1)x+14 2)x+13

3)x+16 4)x+15

(x + 5) & Ueh AHEEAT AR, T A=
e fowmEem went? D00
)x+ 14 2)x+13

3)x+16 4)x+15

5 hours 16 mins 24 seconds is equal to
how many seconds? DOOB®
1) 18984 2) 19884

3) 16984 4) 15984

uTe! |, et e Ut Siei Seke reu
foRett TR ? 00010
1) 18984 2) 19884

3) 16984 4) 15984

In the adjoining figure /(AD) = 9cm,

I[(AC)=16cm, /(BE) =7cm, Then find the
area of the diven figure(ABCD)

0[0O]6)

fedear emgdld /(AD) = 9cm,
I(AC) = 16cm, I[(BE) = 7em, R g ABCD

o e . DOB@

A B

9 16 v
D C

1) 96 cm? 2) 128 cm?
3) 182 cm? 4)144 cm?
How many line can pass through a single
point? D@
1) One 2) Two
3) Five 4) infinite
TRt foigm et W1 SEe? . DRR@
1)k 2) M
3) U= 4) 3Hd




Q.21

Q.21

Q.22

Q.22

Q.23

Q.23

Q.24

Q.24

Q.25

Cost of 12 soaps is 240 rupees. How many
soaps one can buy in 1200 rupees?

1)50 2)30 QQB@
3) 60 4) 40
12 HreuTE fehAd 240 T 3R, SR 1200
T fbet AT AAS? DOB)Q)
1) 50 2) 30
3) 60 4) 40

Average of four number is 72, If the 5™
number is 192. The average of the five

number would be........... 00O
1)78 2) 96
3) 84 4)76
TR G TEd 72 3R el |
192 3MR. R T UTe GEare quad foRdt
3MmR? 0VOl0)
1)78 2)80
3) 84 4)76

How many linear pairs of angles are seen

in the figure DO20®
e 3MeRdidies W S -
fordt Srgen arma? DOB@

A

1)4 2)8
3)9 H11

Measures of three angles of a triangle
are 5x’, 6x° and 7x°. Which alternative
shows these angles? 0016
1) 30% 40°, 110° 2) 60°, 50°, 90°

3) 30° 60°, 90° 4) 50°, 60°, 70°

SR FrentuTrean 9 sl 7T 5x°,6x° 30T
7x" ST, T hIUTe YT g4 BTt
T & el T R S RE. DOB)@
1) 30, 40, 110 2) 60, 50, 90

3) 30, 60, 90 4) 50, 60, 70

Find the LCM 0of 36and 90 D23 @

Q.25 36a 90w uwm.fa fFi? DOR@
1) 90 2)270
3) 180 4) 360
Q.26 Findthem / ACD OO0®
Q.26 ,ACD = " fedi? DOR®
A
65°
55° X
B C D
1) 60° 2) 120°
3) 65 4) 55°

Q.27 What would be the difference between

Q. 27

Q.28

sum of all even number and all odd

number from 30 to 50? 0016
1)30 2) 50
3) 20 4) 40
30 UTgA 50 Tidea wel |9 o forom Heaea
AN ek Tohett? D@
1)30 2)50
3)20 4) 40

Find the value of /(AC) + ¢(CF) - /(BF)
0000

Q.28 W AHISHUTEN fehAd hiet?

Q.29

Q.29

/(AC) + £(CF) - ((BF)
| | | |
A B E F

o 0016

1) é of I(AF) 2) % of [ (AF)

4
3) 1 of [ (AF) 4)§ofl(AF)
Radha finishes stiching work in 20 days.
If sharada works 2 and half times more
than her. In how many days she would

finish the work? 00OO]6)
1) 10 days 2) 12 days

3) 8 days 4) 5 days

Teh! RTaureR™ FuaEEt e 20 feewm

BRTAT. ITRET forean uel rSeme Sied M
&, W 9o 9 W GuarEet ferdt feam

AT ? 00010
1) 10 f&em 2) 12 feem
3) 8 fa=™ 4) 5 e




Q.30 Ifx=3, then find the value of 5x>+6x-8

Q.1

Q.1

Q.2

Q.2

Q.3

Q.3

Q4

Q4

Q.5

1)55
3) 63

2)45 OQB®
4) 54

Q.30 R x =3 W 5x2+6x-8 TN AHIeHUT= fehra

el D@
1)55 2)45
3) 63 4 54

Section III : Science (30 Questions, 60 Marks)

9l 111 : farsirer (30 19, 60 3g01)

Which is not a Non - renewable resource?
0OO]6)

1) Air 2) Plants

3) Minerals 4) Water

—————— B 3UREdE & 3. (D D D @)

1) &l 2) aEadl

3) @fst 4) qroft

Air is a mixture of -------- gases ?
0OO]6)

1) Oxygen 2) nitrogen

3) Helium 4) Carbon dioxide

A - m AR . DQO@

1) 3t 2) TE2SH

3) gfesem 4) FIeH S STFAES

full form of CNG is -------- D@

1) Common natural gas

2) Condensed natural gas

3) Compressed nature gas

4) Compressed natural gas

CNG Ul ----—- DOB®

1) FEF TR 79 2) Frete RS T

3) FORE TR T 4) FiOiEe T TG

Traditional well is --------- m deep?

1) 40 m 2)20mDOB@

3)30m 4) 10 m

foén & wdmamomor ------ X gkt

T 3. DOB@

1)40 2)20

3)30 4) 10

Cause of sea breeze is 0016

1) Concurrent current
2) Convulsion current
3) Common current

4) Convection current

Q.6

Q.6

Q.7

Q.7

Q.8

Q.8

Q.9

Q.9

Q.10

‘Which elements have molecules with two

atoms each ? DOOB®
1) Oxygen 2) Magnesium

3) Hydrogen 4) Chlorine
e -~ 1 IS T 3TU]
3. DOB®@
1) 3t 2) HHfdte™

3) BRIGSH 4) FOHH

Symbol of cobalt is 0016
1) Co 2)Cr

3)Cd 4) Cn

FEAEES WA -~ . DQA@

1) Co 2) Cr

3)Cd 4) Cn

Unit of period of oscillation is QR @
1) meter 2) kilogram

3) second 4) minute
———————— 2 IRl ST Teheh
. DRO@
1) HiX 2) fronm

3) kg 4) e

Metal which is good conductor of elec-
tricity? DR
1) Silver 2) Iron

3) Nickel 4) Copper

————— 1 forsten gawes o=, Q00
1) =i 2) IEe

3) fires 4) disl

The acid in tamrind is O0O©]6)
1) tartaric acid 2) citric acid

3) Acetic acid 4) lactic acid




Q.10

Q.11

Q.11

Q.12

Q.12

Q.13

Q.13

Q.14

Q.14

Q.15

Q.15

Q.16

fremey ----—- 2 3T 3. DB @

1) dRERih ARIRIEED

3) sifEien 4) Jfereh

When sugar is found in urine the disease

is called —--------- 0016

1) cholera 2) diabetes

3) typhoid 4) measeles.

TN TGRS THT0T SR 318 @ - -

———— B 3R HUATEN IRl 7.
0OO]6)

1) e 2) AYHE

3) TEHES 4) s

The temperature at which liquid changes

into gaseous state -------- DOOB®

1) 100°% 2) 0%

3) 37% 4) 95°%

—————— T THUTI T TR

1) 100°% 2)0% OD@B®®@

3) 37% 4) 95°%

An unicellular animal -------—- DOOB®

1) cat 2) moss

3) algae 4) amoeba

—————— T THUEia Wit AR, DOR@

1) SR 2) Sares

3) el 4) sttt

Molecular formula of Magnesium oxide

1) FeS 2) CO,000®

3) MgO 4) FeO

TR SHRTEE TR - .

1) FeS 2) CO,000®

3) MgO 4) FeO

Deficiency ofiron is -------- DODOB@

1) goitre 2) anaemia

3) cancer 4) rickets

DIEA HAARAGS —————- T TR S

kel 0OO]6)

1) ToTE 2) 3=

3) FHEH 4) Repem

Which is the acid in tamarind? Q3@

1) Acetic acid
3) tartaric acid

2) citric acid
4) butyric acid

Q.16

Q.17

Q.17

Q.18

Q.18

Q.19

Q.19

Q.20

Q.20

Q.21

Q.21

Q.22

Q.22

1) sifafesn %

3) SFRH 4) =R A

symbol of lead is -------- DOOB®

1) P/ 2)Pm

3)Pb 4)1d

ST O -~ IR DOBO

1) P/ 2)Pm

3)Pb 4)1d

unit of density is -------- DO20®

1) g/cc 2) kg/de

3) gm/cm 4) hm/gm

————— TR R IR D@

1) /. o 2) fi / <

3) 3/3Ht 4)

---------- is weak acid 0016

1) HCl 2) HNO,

3) CH,COOH 4) H,SO,

——————— 2 U e IS SR,
0006

1) HCl 2) HNO,

3) CH,COOH 4) H,SO,

Acids used as preservative ----------
DOO@

1) Hydrochloricacid  2) benzoic acid

3) Citric acid 4) sulphuric acid

3t feenfervamamdt ------ T ST AT

e L. 00010

1) BRI 2) SFEiE

3) "EfEh 4) Tl

One natural indicator --------- DODOB@

1) Phenophthalein 2) Methyl Red

3) Methyl orange 4) Turmeric

—————— EECHEENE  ANOOO]0)

1) fFfewafen 2) s e RS

3) fermses SIS 4) 8%

Vitamin D deficiency causes ----------
DOO@

1) Rickets 2) anaemia

3) scurvy 4) goitre




Q.23

Q.23

Q.24

Q.24

Q.25

Q.25

Q.26

Q.26

Q.1

Q.1

. 00010 1) Tefosshl 2) FHEH
1) theH 2) sHfERn 3) S 4) 3T
3) Tl 4) e Q.27 Which is not an alternative source of en-
Which of the following is not a sugar ergy. 0]0]O]0)
DOR® 1) Mechanical energy
1) sucrose 2) fructose 2) wind energy
3) lactose 4) protein 3) biogas
4) solar energy
————— A yrehT AT O0B®
1) 2) FN Q.27 ———j——aaﬁmwﬁ@aq@@@@@
3) IR 4) vFR 1) Fifde 3 2) 9 3
: 3) AT 4) |R 3
Symbol of tungsten is -------- DOOB®
DT )W Q.28 - is oviparous animal. Q3@
3)N 4)TU 1) hen 2) man
R Wﬁ W _____ 3 am. 3)cat . 4) cow
DT W DOB® Q.28 ----- 71 3w WU 3R, 0016
)N 4)TU 1) isrEl 2) A
light travels through holeis QB @ 3) HISR 4) T
1) Circular Q.29 Which of the following is not a salt
2) linear propagation 1)HCI 2)NaClDQB@
3) curved propagation 3) NaNO, 4) Na SO,
4) bending Q29 - a1 T T DOO@
Wﬁlﬂ%ﬁmm@ ------ 1G]] 1) HCI 2) NaCl
DOB® 3) NaNO, 4) Na SO,
1) SeTeFR 2) T T Q.30 - is Renewable Resource
3) TR 4) hleH D@
Which is not an part of digestive sustem 1) Soil 2) Mineral
______ DOB@ 3) Animal 4) Water
1) Oesophagus 2) Lungs Q30 -—-—--——- 21 AT AT HiE SR,
3) stomach . 4) intestine DD
—————— 1 AT UeF HEd= 9 AR et 2) W
0]0]O]0) 3) it 4) qoft
Section IV : Intelligence Test (20 Questions, 40 Marks)
o181 1V : ggfenTan aravft (20 794, 40 3o1)
Find the odd term DO®QR@ | Q2 Find the number which belongs to the
(1) North-East (2) East-West given group : O]0OO[0)
(3)South-East (4) North- West 63, 26, 124
(1)65 (2)217
fersiie ue sfiesa 0000 (3)0 (4)8
(1) 3T (2) goi-ufe=m ..
(3) e (4) T Q.2 S Ea=a 1T WEUR U il
63,26, 124 DOB®




Q.3

Q.3

Q4

Q4

Q.5

Q.5

Q.6

Q.7

(1) 65 (2)217
(3)0 4)8

Amar starts walking towards east, then
he tuns to his right, twice , again he turns
to his left ones ,now in which direction
his right hand is pointing? D@3 ®@
(1) South (2) North

(3) East (4) West

3R Ydehe oed AT, SR @l G AT
SRS TBH A Uehel STeiehe dba,
AT TN ST BT ShiuTe fIviehs 3.
(1) e Q) SROQO@
(3) g (4) ufe=m

In a row in front of Rashmi, there were
12 students. Behind Reshma there were

16 students. If 5 students were standing
between them. How many students were

there in that row. OOB®
(1)35 (2)37
(3) 39 (4)33
TehT Tiita Twean g2 12 ferenefi €, Yormsan
w16 ferneff @ sR o anfon Yourem
wed 5 foreneff @@ W @ WA THoT et
fereneff 2. DOR®®
(1)35 (2)37
(3) 39 (4)33

Salim is elder than his brother by 730
days. If Salim was born on a Tuesday on
which day his brother was born?

(1) Friday (2) Tuesday

(3) Thursday

(4) Data not sufficient

T SreAHENEn 730 Rawt 1t IR,

TS S WA TS Bidl. It

AT WG S ShivTea fasht sen?
DOB®®

(1) Yehar (2) HTAR

(3) TEoR (4) AR 90 ST,

If 65 is to 117 then 68 esto what?

(1) 153 2 1B7000®

(3) 138 (4) 135

In a code language A=1, B=4, C=9-----
and so on, then which altenatives shows

the code for ‘DAY’ 00O

Q.7

Q.8

Q.8

Q.9

Q.9

Q.10

Q.10

Q.11

(1) 16125 (2) 91625

(3) 161625 (4)9251

Teh Wichfdeh WNd SR A=1, B=4, C=9--—--
W THIGAHT HIUE Gaig ‘DAY’ &l

ITSRTEN Hohd 3R ? DORD
(1) 16125 (2) 91625
(3) 161625 (4)9251

Which of the following figure belongs to
the group of given figures? DQQR@

e Sehcai=A e[ UG hIUTd
TRt UZ? DOB®

0 <& ©
1) Q 2)
3 O SIPAN

How many numbers are common in all the

three geomatrical figures QOQQ®®@

foedt Wifafm stgpeaia fRdt @ wam

¥Mem? D@

()2 (2)4

(3)5 43

If ancle isto anclet, then wrist isto what?
OI0]O]6)

(1) Wristlet (2) Bracelet

(3) Watch (4) None of these

R ShENET ShERUEET TR AT hid?
0000

(1) TSTEL (2) AR

(3) TrES (4) a0t @

Find the numbers of angles in the given

figure? DRO@




Q.11

Q.12

Q.12

Q.13

Q.13

Q.14

Q.14

(1)15 (2) 10

(3)5 49

fecsean aTrepdieios UehuT s HEan fehrdi?
(1) 15 2)10 Q0@
(3)5 49

Find the wrong term in the series?

1200, 240, 60,30,10,10 DB @
(1) 1200 (2) 30
(3)10 (4) 60
e HEamfochdies Sehiel U 3iiea?
480, 240, 60, 30, 10, 10 DOB@
(1) 1200 (2) 30
(3)10 (4) 60

Which number would be on the opposite
face of the cube, which has 2 one side.

OO0®
[1]2
3]
4
516]
(1)4 (2)3
(3)6 (4)1
e sepdten ua safaea® =
TUREAT S| hIUTAl 3ich A5?
(1)4 2)3 ©O00®
(3)6 (4)1

Rashmi’s Father has one sister, and three
brothers, If everyone has only one son,
Rashmi aunt has how many nephews?

0OO]6)
(1) 4 ()5
()3 (46

TP TSI Ueh SIEH0T & T 1S, 37Te.
AT TR TH-Ush A AWG, W
Triean STt femedt Wl 3Tra?

0[0O]6)

(1) 4 ()5

Q.15

Q.15

Q.16

Q.16

Q.17

Q.17

Q.18

Q.18

Q.19

()3 (46

If the digits of the prime numbers from
41 to 69 are reversed and written in as-
cending order which number would be in

the middle. DO20®
(1)34 (2)43
(3)35 (4)41

W A Uefie g €At TR ST
ACATEEH T o TSATHAN WigedTd,
HEAVRR U T WE. DRBD
(1)34 (2) 43
(3)35 (4) 41
If Sonabai was to on daily wages from

10" February 2012 to 6™ March 2012. If
her daily wages are 205, How many ru-

pees she would get ? OO0®
TiFeTE IsTaer 10 Tgart 2012 A 6

e 2012 T FHIOMR 3. IR T AT

205 T fieSUTR S1Ted, TR i1 Uepu fehelt

T et ? D@

(1)5330 (2)5125

(3)35 (4)41

From travelling from A to B how many

time, your right hand would be on west?

A
" s 000

(1) 2 times (2) 3 times

(3) Once (4) None of times

feseen sty A urgR B W Sra

fereit et qHen SSTan B ufveehe ST ?
0000

(1) 2 gea (2) 39@t

(3) That (4) TeheTel T

Which of the following does not belong

to the group 0016

(1) Women (2) Ladies

(3) Children (4) Wives

W Tewie s ug e
0000

(1) feremfeit (2) STt

(3) TETER (4) wrereht

12346756211546218135215




7 1 In the given series how many times | 9T I
the sum of adjascent digit is equal to 8
LiD[2.[3)3[D|4]|D|5]9
010O]6)
(1) 3 times (2) 4 times 6. 12 [7.12(82]9.]|2]|10.|%
3)2ti 4)0
()2 times (4) Once .| 3) [12.| D |13.| D |14 2 [15.| D)
Q.19 feSea Heamifea fohdl @t Sirea 3 NI
maﬂasa@ DOB@ 16.| 3) [17.| 1) | 18. 9. .
(1) e et (2) ¥R e Section II / 71 I :
(3) 3 s (4) Tt LiD|[2|3|3]94a]3]5]2
Q.20 In a running race, there are 4 competi-
tors and 4 tracks. If Sohan is next to 6. || 718 | D9 |I]10.]9
mohan, but not next to Suraj. Mohanis | | 11| 1) [12.| 4) [13.] 2) |14.| 1) | 15.] 4)
next to suraj , but not next to Manoj. Who
arein 2" & 37 track. DDA | 16| D [17.| 3 |18.| D [19.| 2 |20.| )
(1) Sohan & Mohan ~ (2) Mohan& Suraj | |21.| 3) |22.]2) |23.] 1) | 24.] 4) | 25.] 3)
(3) Suraj & Manoj
(4)M0han&Man0j 26. 2) 27. 4) 28. 1) 29. 3) 30. 1)
Q.20 T USUATSAT YRda 4 Tusieh 9 4 2ok | Section I1T/ 9w 111
SR e Hon ATt oM. won ger=n | [ 7o) T T3 T3 Tay 4 [3) ] 5. ] 4
P AT, WIgd GESTedn IS 3. Ut
uHtere AT AR, gEew & few= | [ 6|2 | 7| D 8. ]3] 9.1 10.] D)
UL HITT HIUT 3MMR? DOA@ | |11.{2) |12.| D |13.| 4) | 14.] 3) |15.] 2)
(1) ¥ o 5 (2) ¥ 4 16. 3) [17.] 3) [18.] D [19.]3) |20.] 2)
(3) G 9 A (4) 5 9 TS
21.| 4) |22 1) 23.] 4) | 24.| 2) |25. 2)
26.| 2) [27.| 1) [28.| 1)]|29.] 1) |30.]3
Answers / 3T : 6.2 27| D28 D ) )
Section I : Section IV /A IV :
L|3)[2.]3D[3]D|4]3]|5]2 L 2|23 |HD|4|D]|5]3
6. [2)[7.|D]8[3)]9.]D]10.]3) 6. | D713 (8 [4]9.]3]10.]2)
1.(4) [12.| 2) [13.| D [14.] 2) |15.| D) 1. D12, 2)|13.| D [14.] 3) |15.] 3)
16.| 2) [17.| D [18.| 9 |[19.] 3)|20.| 1) 16.| ) [17.| 2) |18.| 3) [19.] 2) |20.]| 1)




